Paper 1

Solution
Marking Scheme , 3
1. -
4h-7 6h-5
This document was prepared for markers” reference. It should not be regarded as a set of model answers. _2(6h—35)-3@h-T7) M
Candidates and teachers who were not involved in the marking process are advised to interpret its contents with (4h—-T)(6h-5)
balt- _12h-10—-12h+2] ™M
(4h—T)Y(6h-5)
General Marking Instructions = L 1A or equivalent
(4h—-T)(6h-5)
It is very important that all markers should adhere as closely as possible to the marking scheme. In many —(3)
cases, however, candidates will have obtained a correct answer by an alternative method not specified in the
marking scheme. In general, a correct answer merits all the marks allocated to that part, unless a particular
method has been specified in the question. Markers should be patient in marking alternative solutions not Ax+C
specified in the marking scheme. 2. B 3x
; ; ; Ax+C=3Bx IM
In the marking scheme, marks are classified into the following three categories: L 1M for putting x on one side
‘M’ marks awarded for correct methods being used; C
‘A’ marks awarded for the accuracy of the answers; X = 1A or equivalent
Marks without ‘M’ or ‘A’ awarded for correctly completing a proof or arriving 3B-4
at an answer given in a question.
In a question consisting of several parts each depending on the previous parts, ‘M’ marks should be awarded Ax+C _ 3x
to steps or methods correctly deduced from previous answers, even if these answers are erroneous. B
However, ‘A’ marks for the corresponding answers should NOT be awarded (unless otherwise specified). Ax " c 3 IM
=3x
B B
For the convenience of markers, the marking scheme was written as detailed as possible. However, it is still g -C
likely that candidates would not present their solution in the same explicit manner, e.g. some steps would —=3x=— IM for putting x on one side
either be omitted or stated implicitly. In such cases, markers should exercise their discretion in marking B B
candidates’ work. In general, marks for a certain step should be awarded if candidates’ solution indicated = C 1A or equivalent
that the relevant concept/technique had been used. 3B—A4 |
—(3)
In marking candidates’ work, the benefit of doubt should be given in the candidates’ favour.
In the marking scheme, ‘r.t.” stands for ‘accepting answers which can be rounded off to’ and ‘ft.” stands for 3. (@) 6r:-13rs-28s?
‘follow through’. Steps which can be skipped are shaded whereas alternative answers are enclosed with = (2r=75)Gr +4s) 1A saliiit
frectangles . All fractional answers must be simplified. B S e
()  4r-14s+6r’—13rs—28s>
=4r—14s+(2r—-7s)(3r +4s) IM | for using the result of (a)
=2(2r—7s)+(2r—7s)(3r+4s)
=(2r—7s)2 +3r +4s) 1A or equivalent
~-(3)
F
§. @ 2L gele |
Sx+7-4<8
-3x<-3 M for putting x on one side
x> 1A |
3x+920
x2-3
Thus, the required range is x>1 . 1A
b) 2 1A
()
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5.

6.

I

Solution Marks Remarks
a:c=6:5 1,7, (] R — :
1
2b+7c 4 i
b+c cnhef one
2b+7c=4b+4c :
2b=3c :
b:c=3:2 SRR
b:c=15:10
a:c=12:10
So,wehave a:b:c=12:15:10 . 1M
Lel a=12k , b=15k and c=10k , where % 1s 2 non-zero constant.
S5a+38b
2b+3c
_ S(12k) + 8(15k) M
2(15k) +3(10k)
=3 1A
(4
Let Sx be the marked price of the calculator.
The cost of the calculator
- -] IM
(1+40%)
(%)
; 4
The selling price of the calculator
=(75%) x | 1M
(%)
4
3x 5x _13 M
4 7
x=364 1A
Thus, the marked price of the calculatoris $364 .
Let Sc be the cost of the calculator.
The marked price of the calculator
=(1+40%)c IM
=381 Ac
|
The selling price of the calculator
= (75%)(1 Ac) IM
=$1.05c
1.05¢c=c=13 ‘ IM
c=260
Thus, the marked price of the calculatoris $364 . 1A
--------- @)
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Solution

7. (a) £LPOQ
=]49°-59°

=90°

(b) ZPOR
=239°-59°
=180°
Thus, P, O and R are collinear.

(c) The required perimeter
=PQO+QR+ PR

= 1124602 ++/602+1442 +(11+144)

=372

LACB=ZLADB =90°
BC=AD

AB=AB
AABC=ABAD

Marks Remarks
1A
1A ft
M
1A
—)
given )
(given)
( common side )
(RHS)

(b) A4E
= AD%+ DE?
=15cm
By (a), we have ZABE = ZBAE .
Hence, we have AE = BE .

So, wehave BE=15cm .
Notethat CE=DE=9cm .

The required area
= --(AD)(BD) +-(BCXCE)
_1 3
=2 (12)9 +15)+(12)(9)

=198 cm?

4+k 5

10+9+4+3+4+4 18
it

(b) Themean=35
The mode =3

The median =4

IM

IM

1A
)

M
1A

1A

o

1A
)




Solution - Marks | Remarks . Solution Marks | Remarks

—

10. (a) Let g(;)=a+bx; where a and b are non-zero constants. 1A | o 12. (@) Let (5,0) bethecoordinatesof B.
So, v:.re ave a—-3b=-21 and a+76=9. IM for either substitution Then, the coordinates of A, C and D ave (mb+5,0) , (b,mb) and
Solving, we have a=-—12 and 4=3. 1A for both correct bib. mb ivel M PETITEN
Thus, we have g(x)=3x-12 . UGS D dJ
"""""" 3) The slope of OD
mb-0
h(x)=0 = IM
b mb+b-0
xg(x)+k=0
R e O 1A
3x*-12x+k =0 M m+1
Note that all the roots of the equation h(x) =0 are real numbers.
—~12)%— Let k& be the slope of OD.
(-12)"-4(3)(%) 20 M Denote the x-coordinate of A by a.
k<12 1A Then, the coordinates of D are (a, 4a) . IM  |~eemmmmnenae- :
——G) Therefore, the x-coordinate of B is a—4a . either one
So, the coordinates of C are (a—ka,ka). | = Jes=eceeeaaa-- ;
ka = m(a - ka) M
k=m-mk
1. (@) 21+32+33+37+39+40+40+b+$0+28+29+30+34)(2)+(20+a)(3)=30 M h _m
Therefore, we have 3a+b=16 . 7 m
=3 =4 = Thus, the slope of OD is 1A
Thus, we have = , “ or {° 1 : 1A+1A | 1A for one pair + 1A for all g m+1 |
b=7 |b=4 b=1 eeeee—n(3)
)
(b) The slope of OM
(b) 21 1A _5-0
——=(1) 60
5
(c) When a=3, the inter-quartile range of the distribution is the greatest. | M =%
The greatest possible inter-quartile range of the distribution |
=34-23 IM The slope of 00
By (a), there are three cases. = 5—6— (by(a)) 1M for using the result of (a)
—+1
Case 1: a=3 6 |
The inter-quartile range of the distribution )
=34-23 IM  |====m---- : 11
=11 1 F e ) So. the ; — . - -
: : , the equation of the straight line passing through O and Q is y e
! |
Case2: a=4 : :
The inter-quartile range of the distribution : i The equation of the straight line passing through M and ¥ is
=34-24 | ------ -any one : 0= 2=J (x-10) IM
= 1 |rEe=reE~ ----any one Y T 6-10
| : —5x 25
Case3: a=5 i i Y=y ¢ 2
) ;ﬂ]i g:lsleroquamlc range of the distribution | ! : | Sy _Sx 25 | 22 10
s N i : : Solving y=— and y=——+—, the coordinatesof Q arc | —,—
1 O (o =y e e ' 11 4 2
Thus, the greatest possible inter-quartile range of the distribution is 11 . 1A f1. The x-coordinate of P '
””””” ”(3) - 22 _ 10 1M
3 3
=4 1A
@)
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Solution

13. (a) The volume of X

= (64724 )[ (;i) ]

=18944 cm’

(b)  The arca of each lateral face of X

=-1-[64 +2>(64) 62+ 82
Y k™

=560 cm?

The total surface arcaof X

3 -y
= 4(560)+642[l +(—J
. y

=8 640 cm*

The height of X ’_g(g)’g b
The height of Z 3

The total surface area of X=8640'
The total surfaceareaof Z 960

The total surface area of X _ ( The height of X ’
The total surfaceareaof Z | Theheightof Z

Thus, X and Z are not similar.

14. (a) -4

(b) (i) By(a), wehave F(x)=(6x’+x-4)(gx’+rx-10) .
Note that F(-1)=-12 and F(2)=0 .

Hence, we have (6(<1)+(-1)—4)g(-1)*+r(-1)-10)=-12

and (6(2)°+(2)-4)g(2)*+r(2)-10)=0.
So,wehave g-r=-2 and 2g+r=5.
Solving, we have ¢=1 and r=3 .

(i) Fx)=0
(6x°+x-4)(x*+3x-10)=0
(6x2+x-4)(x-2)(x+5) =0
6x’+x-4=0 , X=2=0 or x+5=0

-1 J
e , X=2 Or x=-5
12
Note that -1-1-2.97 and :1-;—2— 97 are irrational numbers.

Alsonotethat 2 and -5 are not irrational numbers.
Thus, the equation F(x)=0 has 2 ijrrational roots.
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Rema

IM+1IM

1A rt. 18900 cm?

—0)

IM

IM

IM

1A L.
—(4)

1A
sl L)

IM+IM

1A for both correct

IM
IM

IM

1A fi.
meered 1)

Solution

15. loggy =22 =4(logyx - 5)
logoy = logyx*+2
logey = Iog,9x‘
logs; ¥
log,?
log; y = 2log,9x*
y=8 Ix®

= 10g39X‘

16. ()  The required probability
_cicy

———

The rcquu'ed probab ility

( sKiskis)irkie)

The required probability

GG GG €9 596
¢ O

for numerator

r.t. 0.470

for numerator

rt 0470

for 1-p-(a)

r.t. 0.249

)

for po+py+ Dy

r.t. 0.249
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Solution

@ @

I’ 1s the perpendicular bisector of OR.

(1) The coordinates of the mid-point of QR are (3,-5) .

The slope of OR
_=9—{-l)

-4 -10
4

=_

7

The equationof I” is

-7
y=(-5)="(x~3)
Tx+4y-1=0

(b) (1) Denotethe point (4,3) by S.

(i)

The coordinates of the mid-point of RS are (0,-3) .

The slope of RS
_3-(=9)

4= (1)

3

om—
-—

2

The equation of the perpendicular bisector of RS is

-2
y=(3)=—(x=0)
2x+3y+9 =0

Solving 7x+4y~1=0 and 2x+3y+9=0, the coordinates of
the centre of C are (3,-5) .

The radius of C
= (4-3)%+(3+5)

=65

Thus, the equation of C is (1—3)2+(y+5)2= 65 .

Denote the centre of C by G.
Note that G lies on the circumcircle of AUVW .

Also note that GU is a diamelter of the circumcircle of AUVW .

GU
=J10-3)%+ (4 +5)?
=130

The area of the circumcircle of AUVW
2

_ ”[ V130 ]
2

=102.1017612
>100
Thus, the area of the circumcircle of AUVW is greater than 100 .

5]

Remarks

IM

IM

1A
—(3)

IM

IM

1A

or equivalent

x*+y*—6x+10y-31=0

ft.

Solution

S ———————————————————

18. (@ (i) By cosine formula, we have

0S2= pQ?*+ PS*—2(PQ)(PS)cos LOPS
0S2=12%+10%-2(12)(10) cos 82°
OS 214.51201074

0OS =~ 14.5cm
Thus, the length of OS is 14.5¢m .

(ii) By sine formula, we have

(®) @@

(ii) Denote the shortest distance from P to the plane ORS by dcm .

sin ZOSR _ sin ZORS
OR  OS

sin LOSR = 1351063
14.51201074

ZOSR =5427995332° or ZQOSR=125.7200468° (rejected )

ZROS
~180°—-65°-54.27995332°
= 60.72004668°
= 60.7°

Denote the foot of the perpendicular from R to OS by T.
Then, we have RT =13sin ZROS .

Let hcm be the shortest distance from R to the plane POS.
h= RTsin80°

h=(13sin ZRQS)sin 80°

By (a)(ii), we have /1 =11.16685898 .

Thus, the required distanceis 11.2cm .

%(the area of APOS)h= %-(the area of AQORS)d
(PO)(PS)sin LOPS

(QR)(©OS)sin LROS
d (12)(10)(sin 82°)

~

11.16685898  (13)(14.51201074)sin 60.72004668°
d =~ 8.064136851

2
h

Since PX 2d , the distance between P and X exceeds 8cm .

Thus, the claim is correct.
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Remarks

M

1A r.. 14.5cm

M

1A .. 60.7°
—)

IM

1A rt 11.2cm

IM

B

0“1.



19. (@)

Solution
f(x)
=2x*+4mx+8x+2m*+8m+n
=2(x%+2mx + 4x)+ 2m*+8m+n
=2(x*2(m+2)x+ (m+2)* = (m+2))) +2m*+8m +n IM
=2(x+m+2)*+n-8
Thus, the coordinates of P are (-m-2,n-38) . 1A
()
(b) Transforming f(x) to f(?)+7 represents the enlargement of 5 times
of the original along the x-axis and the upward translation of 7 umits. 1A+1A
--------(2)‘
() (1) Thecoordinates of Q are (-5m-10,n-1) . 1M
Note that 1+»n—(-m—-2)=-5m-10—(1+n) and ciat.. - P IM+1M
n—-8 4-m
So, we have n=-3m—-7 and 8m*+77m+104=0 . 1M

Since mn<0 , wehave m=-8 and n=17.

Thus, the coordinatesof P and Q arc (6,9) and (30,16) respectively. 1A
(1) For PQ//SR , theslopeof PQ is equal to the slope of RS.

1—(2t-3) =16—9
3r+27-(3+3) 30-6
Solving, we have r=—4 .

Therefore, we have

The coordinates of R and S are (15,—4) and (-9,-11) respectively.

PO =+/(30-6)2+(16-9)% =25
RS = /(15— (=9))? + (=4 — (~11))? =25
OR =+/(30-15)2+ (16— (—4))? =25

When (=-4 , we have PO=QR=RS and PQ//SR .

Thus, it is possible that PORS is a rhombus.

IM

IM

1A

for au*+Bu+y=0

for both correct

For PO=RS , we have

Simplifying, we have 2-6r-40=0 .
Solving, we have =10 or r=—4 .

Case l: =10

OR=+/(57-30)2+(10-16)% =765 # 25 = PQ
Hence, PORS 1is not a rhombus.

Case2: r=—4

OR=+(30~15)2+ (16— (—4))? =25

PS =+/(6-(~9))2+(9—(-11))? =25
When r=—-4 , wehave PO=QOR=RS=PS .
Thus, it is possible that PORS is a rhombus.

J30—6)2+(16-9)2 = (31 +27) - (3r +3))2+ (1 —(2A-3))? . IM

The coordinates of R and S are (57,10) and (33,17) respectvely.

The coordinates of R and S are (15,—4) and (-9,-11) respectively.

1M

1A

N e e D e e S ——
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Solution

\

-Mnrks Remarks

For PO=0R , wehave

JB30-6)2+(16-9)% =Bt +27-30)2+ (t-16)? .
Simplifying, we have 12-5r-36=0 .
Solving, we have =9 or r=-4.

Casel: (=9

The coordinates of R and S are (54,9) and (30, 15) respectively.

RS =+/(54-30)2+(9-15)2 =612 #25=PQ
Hence, PORS is not arhombus.

Case2: =-4

The coordinatesof R and S are (15,—-4) and (-9,-11) respectively.

RS = /(15— (=9)) + (-4 - (-11))? =25
PS =4(6-(-9)2+ (9~ (-11))* =25

When t=-4 , wehave PO=0OR=RS=PS .
Thus, it is possible that PORS is a thombus.

M

IPor OR=RS , wehave
J Bt +27 =302+ (1—16)* =y (3 +27 -3t -30 + (1 =20 +3)? .

Simplifying, we have 9r*—44r-320=0 .

Solving, we have (= -89£ or =—4.

80
Casel: t=—
9

3°9 3’9

9
Hence, PORS is not a rhombus.

31

Case2: t=-4

RS = (15 = (=9))? + (—4 — (~11))? =25

PS = (6 —(=9))2+(9—(~11))% =25
When t=-4 , wehave PO=0QR=RS=PS .

Thus, it is possible that PORS is a rhombus.

The coordinates of R and S are (ﬁ_@_} and (8—9. 234) respectively.

| 2 2
PS=J(6-§33) +(9-—1?3-) =\l48°73 £25= PQ

The coordinatesof R and S are (15,-4) and (-9,-11) respectively.

IM

- N Sm n N R S N -
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Paper 2 Candidates’ Performance

Question No. Key Question No. Key Paper 1
1. C (86) 26. B (55) In this year, 44 9.43 car.udidates sat the eztamination. The mean score was 56 marks. Candidates generally
2. D (78) 27, D (45) performed better in Scction A than in Section B.
3. A (88) 28. C (60) Section A(1)
4. A (91) 29 B (87) ;
5. B (93) 30. D (55) %L:;;t;g? Performance in General

6. A(77) 31. B (70) 1 Very good. About 80% of the candidates were able to simplify the given expression.

; . - A (63) 2 Vi d. About 85% of the candid abl ke x tie subject of the gi

3. D (55) 33 B (49) focnr)r:ug':.o . About 85% of the candidates were able to make x tite subject of the given

9. C(67) 34. D (54)

10. B (70) 35 A (34) 3 Very good. About 80% of the candidates were able to factorize the given expressions.

11. C (58) 36. C (46) 4 (a) Very good. Most candidates were able to solve the given compound inequality.

12. A(73) 3L C4l1) : : : i

13 C (74 38 (b) Good. About 65% of the candidates were able to write down the least integer satisfying

' (74) ' B (47) the given compound inequality.

14. A (67) 39. A (49) -

15. D (68) 40. C (46) 5 Very good. Most candidates were able to find the value of the given expression.
A small number of the candidates wrongly thoughtthat a:c=5:6 .

16. D (55) 41]. A (27)

17. C (36) 42, C (66) Very good. About 75% of the candidates were able to find the marked price of the
calculator. A small number of candidates confused the marked price with the selling price

I3. C(82) 43. D (59) of the calculator.

19. D (51) 44, D (72) _ =

20. D (46) 45. B (53) 7 @) Very good. Over 80% of the candidates were able to find ZPOQ .

21. B (36) (b) Good. About half of the candidates were able to conclude that P, O and R are collinear

2. B (64) with reasonable explanation.

23. A (56) (c) Good. Many candidates were able to find the perimeter of APOR . Some candidates

21, A (39) wrongly gave the area of APOR as the answer.

25. C (40) .

g (a) Good. Many candidates were able to give a complete proof. Some candidates were not
aware that AB is the common side of AABC and ABAD .

(b) Very good. Most candidates were able to find the area of the pentagon ABCED .
Note:  Figures In brackets indicate the percentages of candidates choosing the correct answers.
9 (@) Very good. About 80% of the candidates were able to find the value of %.
(b) Very good. Most candidates were able to write down the mean, the mode and the median

of the distribution. A small number of candidates wrongly thought that the mode of the
distribution was 10.
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Section A(2)

Question

umber

.__N

b 10

(a)

(b)

E—

Performance in General

Very good. About 85% of the candidates were able to find g(x) .

Good. Many candidates were able to find the range of values of ¥. Some candidates wrongly
thought that the discriminant of the equation h(x)=0 was equal to zero.

—

Very good. Most candidates were able to use the mean of the distribution to find the values
of 2 and 5.

Good. About 65% of the candidates were able to write down the least possible range of the
distribution.

Good. Many candidates were able to find the greatest possible inter-quartile range of the
distribution. Some candidates wrongly gave the least possible inter-quartile range of the
distribution as the answer.

-

Poor. Most candidates wrongly thought that OD was perpendicularto OC, and hence they
were unable to express correctly the slope of OD in terms of m .

Poor. Most candidates wrongly thought that P was the mid-point of OM, and hence they
were unable to find correctly the x-coordinate of P.

——

Good. Many candidates were able to find the volume of X'. Some candidates confused the
volume of a pyramid with the volume of a prism.

Fair. Many candidates found difficulty in calculating the total surface area of X, and hence
they-were unable to explain correctly why X and Z are not similar.

7

Good. Over 60% of the candidates were able to write down the value of p. Some candidates
were not aware that —10p=40 .

Good. Meany candidates were able to find the values of ¢ and r. Some candidates
overlooked that F(-1)=-I2 and F(2)=0 .

Fair. Many candidates confused irrational roots with imaginary roots.

————— E—— —
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Section B

—

Question
Number

B —

Performance m General

15

Fair. Many candidates wrongly applied the properties of logarithm, and hence they were
unable to express y i terms of x.

17 (@) (i)

(i1)
(®) (i)

(i1)

Very good. Most candidates were able to find the probability that exactly 1 white cup is
drawn.

Good. Many candidates were able to find the probability that at most 3 red cups are drawn.
Some candidates wrongly applied the concept of complementary events, and hence they

were unable to find the required probability.

Very good. Most candidates were able to describe the geometric relationship between I
and OR. Asmall number of the candidates wrongly thought that " was the angle bisector
of OR.

| Good. Many candidates were able to use the result of (a)(i) to find the equation of I" .

Fair. Many candidates were not aware that the centre of C is the point of intersection of I’
and the perpendicular bisector of RS , and hence they were unable to find the equation of C.

Poor. Most candidates were not aware that GU is a diameter of the circumcircle of
AUVW , and hence they were unable to conclude that the area of the circumcircle of

AUVW is greater than 100 .

183 (@) (i)
(i1)

(®) (i)

(i1)

Good. Over half of the candidates were able to find the length of OS.

Good. Many candidates were able to find ZRQOS . Some candidates confused ZROS
with ZOSR .

Fair. Many candidates wrongly thought that PR was perpendicular to the plane POS, and
hence they were unable to find the shortest distance from R to the plane POS.

Poor. Most candidates were not aware that the distance between P and X is at least the
shortest distance from P to the plane ORS, and hence they were unable to conclude that the
distance between P and X exceeds 8cm .

19 (a)

(b)

(c) (1)

(i)

I Fair. Over half of the candidates were unable to use the method of completing the square to
express the coordinates of P m terms of m and 2.

Fair. Many candidates wrongly thought that transforming f(x) to f[;;-}l- 7 represented

the enlargement of 5 times of the original along the y-axis and the downward translation
of 7 units.

Poor. Most candidates were unable to express the coordinates of Q n terms of m and n,
and hence they were unable to find the coordinates of P and Q.

Poor. Most candidates were unable to find the coordinates of P and Q, and hence they
were unable to explain correctly why it is possible that PORS is a rhombus.
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Paper 2

General recommendations In this year, 44 886 candidates sat the examination. The paper consisted of 45 multiple-choice items. The mean

Candidates should: score was 27. Post-examination analysis revealed the following:

1. gradspﬁmdam.ental mathematics topics like change of subject, factorization, ratios, percentages, inequalities 1.  Candidates’ performance on Items 1, 2, 3, 4, 5, 6, 12, 13, 18, 29 and 44 was good. Over 70% of the
and mensuration;

candidates answered them correctly.

2. show all working and explain clearly how to get the conclusion; .
2.  Candidates’ performance on Item 41 was unsatisfactory. Less than 30% of the candidates gave the correct

3. havea better understanding of statistical terms and their applications; answers.

4. develop a better spatial sense, such as distimguishing right-angled triangles from non-right-angled triangles
m 3-D figures; 3. Inltem 21, many candidates were not aware that ZABE and ZGCH are complementary angles. Many

5. make use of the memory space m calculators for carrying more significant figures throughout the working in candidates wrongly thought that ZABE=/ZGCH , and hence wrongly gave Option D as the answer.
solving trigonometric problems; and

Q21 In the figure, ABCD is a rhombus. Denote the point of intersection of AC and BD by E.
Let F be apointsuchthat BH//EF and CFHG is arectangle, where G and A are points
lying on AC produced and BC produced respectively. Denote the point of intersection of CD
and EF by /. Which of the following must be true?

6. explore the relationship between different parts of a question.

H

L. Cl=FI
II. LABE=/ZGCH

I11. AADE=AHCF

A B
A. 1 and 11 only (14%)
*B. I and III only (36%)
C. @ and II only (23%)
D. I,IOand Il (27%)

4. In Item 25, many candidates wrongly thought that P was the mid-point of A8, and hence wrongly gave
Option B as the answer.

Q.25 The coordinates of the points A and B are (-3,1) and (—7,-5) respectively. If P isa point
lying on the straight line x—y+13=0 suchthat AP= PB , then the y-coordinate of P is

A, -l1. (10%)
B. -2. (31%)
*C. 2. (40%)
D. 1. (19%)
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1n Ttern 35, many candidates Were tiheble to fihd tHe correct vAltie of @, and hence gave wrong answers.

Q35 Let z=(a-5)i (a; 21)1 W a #hd z dte tedl nombers, then a—z =
4
¥ A 2. (34%6)
B. 3. (17%)
C. 4. (27%)
IR (22%)

i Item 37, many candidates confused the least value with the greatest value of 5x—2y+c , and hence
wrongly gave Option A as the answer.

Q.37 Consider the following system of inequalities:

(x—2y<]
{x+4y<13
2x-y2-]

Let R be the region which represents the solution of the above system of mequalities. Find the
constant ¢ such thatthe least value of 5x—2y+c is 22, where (x, y) isapointlyingin R.

A 1 (23%)
B. 23 (19%)
*C, 25 (41%)
D. 29 (17%)

In Item 41, many candidates were not aware that /, J and P are collinear, Many candidates wrongly
thought that /, J and O were collinear, and hence wrongly gave Option D as the answer.

Q.41 Let G, H, / and J be the centroid, the orthocentre, the in-centre and the circumcentre of
APOR respeotively. If ZPOR=/ZPRO=22° , which of the following are true?

L, G liesinside APOR .
1. H lies outside APOR .
1. I/, J and QO are collinear.

#A. 1 and I only (27%)
B. I and III only (22%)
C. I and I only (22%)
D. 1,1 and Il (29%)
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